—UNIVER=
HA

Technopolymer Push-In Fittings

Push-In fittings allow a quick connection of the pneumatic system
and facilitate maintenance or replacement of pneumatic components.

TECHNICAL CHARACTERISTICS

Temperature -10+80°C
Fluid compressed air, vacuum
Working pressure -0,99 +10 bar
Application fields pneumatic circuits
Recommended hoses polyamide PA 10.12, polyurethane Sh.A98

co-polyurethane Sh.55D

CONSTRUCTIVE CHARACTERISTICS

Body technopolymer
Fixing elements nickel-plated brass with O-ring in NBR for parallel thread version (standard)

teflon coating for taper thread version (upon request)
Clamp stainless steel
Release ring technopolymer

Subject to change

PUSH-IN FITTINGS

ACCESSORIES



HA Technopolymer Push-In Fittings U

UNIVER GROUP

HAO02 Smooth body straight parallel male

Part No. A B CH @0 E F G @M

oM HA0204M5 4 208 2 4 10 - M5 10
HA0206M5 4 224 2 6 12 - M5 12

E HA020418 55 193 3 4 10 14 G1/8 10

2D HA020618 55 202 4 6 12 14 G1/8 12
HA020818 55 271 5 8 14 14 G1/8 14

. T HA020414 65 174 3 4 10 17 G1/4 10

\ \ HA020614 65 209 4 6 12 17 Gl/4 12

m | CH HA020814 65 23 5 8 99 17 Gl/4 14
{ HA021014 65 299 6 10 18 17 G1/4 17
“T HA020838 75 221 6 8 14 20 G3/8 14
HA021038 75 259 8 10 17 20 G3/8 17

HA021238 75 286 8 12 21 21 G3/8 20

oF HA021012 95 353 8 10 17 24 G1/2 17
HA021212 95 311 8 12 21 24 GI/2 20

HAO04 Straight parallel male

PartNo. A B @D CH CH1 @F G @M
oM HA0404M5 4 208 4 10 2 8 M5 10
_Q_Q HA0406M5 4 225 6 12 2 8 M5 12
HA040418 55 193 4 10 3 14 G1/8 10
CH HA040618 55 202 6 12 4 14 G1/8 12
i ;/ HA040818 55 271 8 14 5 - G1/8 14
o HA040414 6.5 174 4 10 3 17 G1/4 10
HA040614 65 209 6 12 4 17 G1/4 12
47 b HA040814 65 23 8 14 5 17 G1/4 14
[ ™~__CH1 HA041014 65 299 10 17 6 17 Gl/4 17
HA040838 75 221 8 14 6 20 G3/8 14
G HA041038 75 259 10 17 8 20 G3/8 17
OF HA041238 75 286 12 21 8 21 G3/8 20
HA041012 9.5 245 10 17 8 24 G1/2 17
HA041212 9.5 311 12 21 8 24 G1/2 20
HAO06 Plastic straight parallel male
oM
2D Part No. A B @D CH OF G oM
ﬁ HA060618 65 244 6 12 142 G1/8 12
— CH HA060818 6.5 263 8 14 165 G1/8 14
/ HA060614 85 234 6 14 165 G1/4 12
o HA060814 85 253 8 14 165 G1/4 14
HA061014 85 324 10 17 199 G1/4 17
<T HA060838 95 235 8 17 20.6 G3/8 14
HA061038 95 294 10 17 206 G3/8 17
G HA061238 95 303 12 21 245 G3/8 20
HA061012 12 304 10 21 245 G1/2 17
—L— HA061212 12 333 12 21 245 G1/2 20
PUSH-IN FITTINGS Subject to change

2



HA Technopolymer Push-In Fittings

HAO7 Straight female

HAO08 Swivel elbow female

HA10B Low elbow

Subject to change

L1
@

[=)

[€:

o
1 o]

CH
-

|l =

Q

oF

CH

@D

Part No.

HA080418
HA080618
HA080818
HA080614
HA080814
HA081014
HA080838
HA081038
HA081238
HA081212

Part No.

HA070418
HA070618
HA070818
HA070614
HA070814
HA071014
HA070838
HA071038
HA071238
HA071212

A

7 23
7 244
7 273
10 274
10 303
10 343
11 32

11 363
11 38

13 405

Part No. A
HA10B04M5 4
HA10BO6M5 4
HA10B0418 5.5
HA10B0618 5.5
HA10B0818 5.5
HA10B0414 6.5
HA10B0614 6.5
HA10B0814 6.5
HA10B1014 6.5
HA10B0838 7.5
HA10B1038 7.5
HA10B1238 7.5
HA10B1012 9
HA10B1212 9

CH
14
14
14
17
17
17
21
21
21
24

154
16.5
17.5
18.5
22
19
20
20.5
243
216
228
243
257
27.2

CH
14
14
14
17
17
17
21
21
21
24

CH

10
10
14
10
10
12
17
12
20
20
17
17

0 OO O b

=
o

10
12
12

@D1
NO
33
33
&3
23
43
33
43
43
43

mO\-hODO\-bO\-bg

Y Y Y =
N O N o ®o

G
G1/8
G1/8
G1/8
G1/4
G1/4
G1/4
G3/8
G3/8
G3/8
G1/2

E
17.5
18.7
225
18.7
225
27.2
225
27.2
29.3
29.3

18.8
20
18.8
20
225
18.8
20
225
26.9
225
26.9
285
26.9
285

PUSH-IN FITTINGS

olll

I
23.8
25.2
27.1
28.2
30.1
223
31.1
333
35.6
37.6

G
G1/8
G1/8
G1/8
G1/4
G1/4
G1/4
G3/8
G3/8
G3/8
G1/2

I
UNIVER GROUP

L1
10
1
11.5
14
14.5
14.5
15.5
15.5
14
17.5

L1
9.5
9.7
9.3
12.7
123
12
14
14
14
16.5

G
M5
M5

G1/8
G1/8
G1/8
G1/4
G1/4
G1/4
G1/4
G3/8
G3/8
G3/8
G1/2
G1/2

oM
10
12
14
12
14
17
14
17
20
20

oM
10
12
14
12
14
17
14
17
20
20

oM
10.5
12.6
10.8
12.6
14.3
10.6
12.6
14
18
14.2
18
21
183
21

3



HA Technopolymer Push-In Fittings U

UNIVER GROUP

HA12B Extended swivel low elbow parallel male

Part No. A B CH @D E G oM
HA12B04M5 4 325 8 4 188 M5 119
E HA12BO6M5 4 335 8 6 20 M5 139
HA12B0418 55 305 14 4 188 GI1/8 119
- P HA12B0618 55 315 14 6 20 G1/8 139
&I 8 HA12B0818 55 378 14 8 225 GI1/8 159
M HA12B0414 65 305 17 4 188 G1/4 11.9
HA12B0614 65 315 17 6 20 G1/4 139
™ HA12B0814 65 338 17 8 225 G1/4 159
N HA12B1014 65 464 17 10 269 G1/4 195
m HA12B0638 7.5 326 20 6 20 G3/8 139
<r HA12B0838 7.5 349 20 8 225 G3/8 159
T HA12B1038 7.5 434 20 10 269 G3/8 195
G HA12B1238 75 449 20 12 285 G3/8 23
HA12B1012 9 453 24 10 269 G1/2 195
HA12B1212 9 468 24 12 285 G1/2 23
HA14B Low lateral Tee male
oM Part No. A B @O E @O G H @M CH
r—@j HA14B04AM5 4 192 4 18 - M5 8 119 8
— HA14BO6M5 4 202 6 20 - M5 8 139 8
— HA14B0418 55 181 4 18 14 G1/8 10 119 10
w P HA14B0618 55 191 6 20 14 G1/8 10 139 10
P { HA14B0818 55 225 8 227 14 G1/8 14 159 10
At s HA14B0614 65 206 6 20 17 GI/4 10 139 12
Ty = HA14B0814 65 21 8 227 12 Gl/4 12 159 12
X 1 HA14B1014 65 254 10 269 17 G1/4 17 195 12
o [ T“w HA14B0838 7.5 221 8 227 20 G3/8 12 159 14
HA14B1038 75 239 10 269 20 G3/8 20 195 14
E HA14B1238 75 251 12 293 20 G3/8 20 23 14
G HA14B1012 9 268 10 269 24 G1/2 17 195 17
oF HA14B1212 9 28 12 293 24 G1/2 17 23 17
HA16B Low central Tee male
Part No. A B CH @D E @OF G @M
2-E HA16B04M5 4 211 8 4 18 - M5 119
HA16BO6M5 4 222 8 6 20 - M5 139
- — T HA16B0418 55 20 10 4 18 14 G1/8 119
. | 1N § HA16B0618 55 211 10 6 20 14 GI1/8 139
i ~ HA16B0818 55 257 14 8 227 14 GI1/8 159
HA16B0614 65 226 10 6 20 17 G1/4 139
o FIF ?ﬂ g HA16B0814 65 242 12 8 227 17 G1/4 159
CH & HA16B1014 65 276 17 10 269 17 G1/4 195
“r : HA16B0838 7.5 253 12 8 227 20 G3/8 159
G HA16B1038 7.5 261 20 10 269 20 G3/8 195
oF HA16B1238 75 274 20 12 293 20 G3/8 23
HA16B1012 9 29 17 10 269 24 GI1/2 195
HA16B1212 9 303 17 12 293 24 G1/2 23
PUSH-IN FITTINGS Subject to change

4



olll

HA Technopolymer Push-In Fittings Y-

UNIVER GROUP

HA18 Y parallel male

2-2D 2-OM Part No. A B CH oD @d E G @M
) HA1804M5 4 395 10 4 33 11 M5 10
=T HA1806M5 4 40 12 6 33 11 M5 12
S B HA180418 55 425 12 4 33 11 GI/8 10
! | ) | ! HA180618 55 435 14 6 33 13 G1/8 12
HA180818 55 463 14 8 33 15 G1/8 14
o HA180614 65 45 14 6 33 13 G1/4 12
CH E & HA180814 65 478 17 8 33 15 Gl/4 14
! HA181014 65 565 17 10 43 18 Gl1/4 17
HA180838 7.5 493 17 8 33 15 G3/8 14
: q HA181038 75 58 20 10 43 18 G3/8 17
1 ; 1 HA181238 7.5 604 21 12 43 21 G3/8 20
G HA181012 95 615 19 10 43 18 G1/2 17
HA181212 95 639 24 12 43 21 G1/2 20
HA19 Intermediate straight
22D
. . Part No. B @D oM
P HA190400 33 4 10
— — T T 1
Eﬂ @ HA190800 385 8 14
HA190806 346 6 159
P HA191000 47 10 17
—t HA191008 394 8 195
— HA191200 486 12 20
HA191210 442 12 23
2-@ X1
HA20 Intermediate elbow
Feen ¢
} } Part No. oD @d E oM
T _ HA200400 4 NO 175 10
AT b= HA200600 6 33 187 12
1T E HA200800 8 33 225 14
1 HA201000 10 43 272 17
a HA201200 12 43 289 20
]
2-E N
Subject to change PUSH-IN FITTINGS

5



] olll
W [

HA Technopolymer Push-In Fittings LN.VQGIROU';

HA21 Intermediate lateral Tee

—— Part No. oD @d E ©OM

'Lmé HA210400 4 33 185 10
Lt HA210600 6 33 19 12
T : —ht | HA210800 8 33 2245 14
E‘,: = IENZ HA211000 10 43 279 17
o H H HA211200 12 43 293 20

3-E
HA22 Intermediate cross
90
L PartNo. @D ©d E @M
S o —ANGAF-1HH HA220400 4 33 175 10
3 i IR HA220600 6 33 19 12
— HA220800 8 33 225 14
! | ! HA221000 10 43 279 17
= HA221200 12 43 293 20
4-E
HA23 Intermediate Y connector
28X2 2-9D2
E E Part No. B @D @d E oM
[ = = = HA230404 355 4 33 11 10
T S A HA230606 365 6 33 13 12
s e = == HA230808 398 8 33 15 14
= HA231010 489 10 43 18 17
TS R
o 20—\ Ny HA231212 526 12 43 21 20
7 1 @ i
T o —— Part No. B @D @D1@D2 E @M X2
‘ ‘ ‘ |‘ HA230604 36 33 6 4 11 12 10
= ] HA230806 398 33 8 6 13 14 12
. . i HA231008 484 33 10 8 15 17 14
D1 L [3@D HA231210 514 43 12 10 18 20 17
@M 3-@M
PUSH-IN FITTINGS Subject to change

6



HA Technopolymer Push-In Fittings Y

UNIVER GROUP

HA24 Reducing stem

oM
@D1
= Part No. B @D1 @D2 @M
1 HA240406 395 4 6 10
—— HA240408 415 4 8 10
| o HA240608 415 6 9 12
HA240610 465 6 10 12
HA240810 468 8 10 14
HA240812 468 8 12 14
HA241012 522 10 12 17
2D2
HA25 Y connector with male stem
2-2D 2-@M
[ ] PartNo. A B @d @D @D1 E oM
|' & '| HA250400 55 58 33 4 4 11 10
HA250600 65 61 33 6 6 13 12
. E | & o HA250800 7 663 33 8 8 15 14
HA251000 7.5 791 43 10 10 18 17
I ; HA251200 75 854 43 12 12 21 20
2D1
HA26 Plug
P2
Part No. B C @D ©oP1 @P2
2P1 HA260400 28 15 4 3 5
HA260600 33 17 6 3 7
o HA260800 37 18 8 4 9
o HA261000 42 205 10 5 11
HA261200 44 23 12 6 13
| 2D |

Subject to change PUSH-IN FITTINGS



] ]
W [

HA Technopolymer Push-In Fittings w

UNIVER GROUP

HA27 Swivel banjo connector (parallel male thread) with wrench head

Part No. A @D E F G CH L @m
HA2704M5 35 4 20 10 M5 8 172 10
CH HA2706M5 35 217 12 M5 8 172 12

E HA270418 57 223 3 G1/8 10 235 10
HA260618 57
HA270818 57

229 G1/8 10 235 12

253 G1/8 10 235 14
M*A*|— o § HA270614 6.3
HA270814 6.3

0 O 00O A O

3

B
249 4 G1/4 14 26 12
284 4 G1/4 14 26 14

T
& |-- HA271014 63 10 302 4 G1/4 14 26 17
47?# HA270838 75 8 293 45 G3/8 19 317 14
HA271038 75 10 325 45 G3/8 19 317 17
HA271238 75 12 353 45 G3/8 19 317 20
HA271012 95 10 355 5 G1/2 24 366 17
HA271212 95 12 363 5 GI1/2 24 366 20

o

HA28 Swivel banjo connector parallel male-female

Part No. A B CH 9D GI G2 L @Mm

HA2804M5 35 5 8 4 M5 M5 197 10

G2 HA2806M5 35 5 8 6 M5 M5 197 12

_ CH HA280418 57 7 14 4 G1/8G1/8 295 10
o HA280618 57 7 14 6 G1/8G1/8 295 12

{ HA280818 57 7 14 8 G1/8G1/8 295 14

o ‘ | — g: g HA280614 63 10 17 6 GI1/4Gl1/4 34 12
| — HH HA280814 63 10 17 8 GI1/4Gl1/4 34 14

1L HA281014 63 10 17 10 G1/4Gl1/4 34 17
< HA280838 75 11 21 8 G3/8G3/8 402 14

I ' HA281038 75 11 21 10 G3/8 G3/8 402 17
G1 HA281238 75 11 21 12 G3/8 G3/8 402 20
HA281012 95 13 24 10 G1/2 G1/2 455 17

HA281212 95 13 24 12 G1/2 G1/2 455 20

HA29 Triple branch lateral Tee

: = PartNo. B @D @d E F F1 @M
w @%\ 1l ! HA290400 57 4 33 19 8 36 10
il B ANPANT A N i u HA290600 61 6 33 24 9 42 12

— — HA290800 81 8 43 24 11 48 14

PUSH-IN FITTINGS Subject to change
8



HA Technopolymer Push-In Fittings

HA30 Triple branch lateral Tee

3-@D2 3-OM2

| s s o |

F1

HA31 Triple branch lateral Tee male thread

HA32 Triple branch lateral Tee male thread

2D1

Subject to change

Part No.

HA300604
HA300804
HA300806
HA301006
HA301008

Part No. A
HA314618 5.5
HA314814 6.5
HA316814 7.5
HA318138 7.5
HA318112 9.5

Part No. A
HA320418 5.5
HA320618 5.5
HA320818 5.5
HA320414 6.5
HA320614 6.5
HA320814 6.5
HA320638 7,5
HA320838 7.5

B
57
62
62

81.8
81.8

B
64.1
70
714
91.1
95,1

B
B515)
375

47
37
39
48.5
50
50

@d @D1 @D2 E

33 6 4 19
33 8 4 20
33 8 6 20
43 10 6 235
43 10 8 235

CH

17
17
20
24

CH
12
14
14
12

17
17
17

@D @D1 @D2 @E

33
33
33
33
3.3

@D

0 O 0O 0O N

6
8
8
10
10

@d
3.3
33
43
33
5.3
43
43
43

4

® 0 o »

E;
19
24
24
19
24
24
24
24

14
17
17
20
24

E1
285
30.5
40.5
285
30.5
40.5
40.5
40.5

PUSH-IN FITTINGS

F
36
42
42
48
48

F
19
20
20
24
24

olll

il n
UNIVER GROUP

F1 @M1 M2

8
9
9
11
11

G
G1/8
G1/4
G1/4
G3/8
G1/2

F1
36
42
48
36
42
48
48
48

12
14
14
17
17

10
10
12
12
14

L @M

36
42
42
48
42

12
14
14
17
17

G &M

G1/8
G1/8
G1/8
G1/4
G1/4
G1/4
G3/8
G3/8

10
12
14
10
12
14
12
14

9



1]

HA Technopolymer Push-In Fittings w

UNIVER GROUP

HA33 Bulkhead connector

Part No. B CH @D E G oM
HA330004 31.1 14 4 119 M12 10
HA330006 334 17 6 107 M14 12
HA330008 37.7 19 8 1 M16 14
HA330010 418 24 10 13.1 M20 17
HA330012 46.7 27 12 16 M22 20

HA34 Threaded bulkhead connector

R Part No. A CHCHlH oD G oM L L1 R
HA340418 8 14 14 G1/8 10 238 11 M12
oM HA340618 8 17 17 G1/8 12 27 9 M14
CH1 AD— HA340818 8 19 19 G1/8 14 321 10 M16

T T HA340414 1M 17 14

HA340614 11 17 17
CH L&i:[u_] HA340814 11 19 19 G1/4 14 351 14 MI16

- HA341014 11 24 24 10 GI1/4 17 36 14 M20
I HA340838 12 21 19 8 G3/8 14 361 15 MI16
HA341038 12 24 24 10 G3/8 17 37 15 M20
HA341238 12 24 27 12 G3/8 20 391 15 M22
HA341012 14 24 24 10 G1/2 17 38 19 M20
HA341212 14 24 27 12 GI1/2 20 41.1 19 M22

G1/4 10 273 14 M12
G1/4 12 30 13 M14

0 O~ O OB

(=}

HA35 Elbow bulkhead connector

r.#.

Part No. A CH oD @d G L @m
& HA350004 175 14 4 33 M12 313 10
CH = HA350006 187 17 6 33 M14 379 12
| [ | HA350008 225 19 8 33 M16 436 14
HA350010 272 24 10 43 M20 512 17
T 7 HA350012 293 27 12 43 M22 56.1 20

1 1

[

’g-ﬂD

2-@M

G
PUSH-IN FITTINGS Subject to change

10



ol
il n

HA Technopolymer Push-In Fittings Y-

UNIVER GROUP

HA38 Stem elbow

E

4B 31 s

| i 8
| 1A Part No. B oD @d E @M P
HA380400 33 4 - 175 10 4
HA380600 362 6 33 187 12 6
. g HA380800 425 8 33 225 14 8
HA381000 508 10 43 272 17 10
HA381200 545 12 43 293 20 12

2]
HA41 Swivel banjo connector (parallel thread) with allen head

Part No. A B CH @D1@D2 G @K L @M
HA410418 225 55 14 6 42 G1/8 14 285 11
A HA410618 215 55 14 6 62 G1/8 14 285 13
oK HA410818 245 55 14 6 82 G1/8 14 285 148
i HA410414 245 65 17 83 42 G1/4 178 365 11
HA410614 235 65 17 83 62 G1/4 178 365 13
Lol HA410814 264 65 17 83 82 G1/4 17.8 365 148
A i i 8{% HA411014 299 65 17 83 102 Gl/4 17.8 365 184
4 } W S HA411214 308 65 17 83 123 G1/4 17.8 365 21
| HA410438 32 9 17 115 42 G3/8 219 392 M
HA410638 32 9 17 115 62 G3/8 219 392 13
M CH HA410838 284 75 20 115 82 G3/8 219 392 148
;zm; HA411038 319 75 20 115 102 G3/8 219 392 184
rs HA411238 328 75 20 115 123 G3/8 219 392 21
HA410812 285 95 24 14 82 G1/2 27.1 427 148

HA411012 345 95 24 14 102 G1/2 27.1 427 184
HA411212 354 95 24 14 123 G1/2 27.1 427 21

HA42 Double banjo connector (parallel thread) with allen head

Part No. A B CH 9D1@D2 G @K L @M
HA420418 225 55 14 42 G1/8 14 438 11
HA420618 215 55 14 6 62 G1/8 14 438 13
HA420818 245 55 14 82 G1/8 14 438 148
HA420414 245 65 17 83 42 G1/4 178 58 11
HA420614 235 65 17 83 62 GI1/4 178 58 13
HA420814 264 65 17 83 82 GI1/4 178 58 148
HA421014 299 65 17 83 102 G1/4 17.8 58 184

(<)}

2-gD2
o

=]
g HA421214 308 65 17 83 123 G1/4 178 58 21
HA420438 245 7.5 20 115 42 G3/8 219 60.7 11
HA420638 264 7.5 20 115 6.2 G3/8 219 60.7 13
HA420838 284 7.5 20 115 82 G3/8 219 60.7 14.8
11 CH HA421038 319 75 20 11.5 10.2 G3/8 219 60.7 184
L HA421238 328 7.5 20 115 123 G3/8 219 60.7 21
2o HA420812 285 9.5 24 14 82 GI/2 27.1 642 148
G HA421012 345 95 24 14 102 GI1/2 27.1 642 184
HA421212 354 95 24 14 123 GI1/2 27.1 642 21
Subject to change PUSH-IN FITTINGS

11



HA Technopolymer Push-In Fittings oLl

UNIVER GROUP

HA43 Triple banjo connector (parallel thread) with allen head

f‘#’
a
—7% § Part No. A B CH @D1@D2 G @K L @M
2K 0 HA430418 225 55 14 6 42 GI/8 14 591 11
\ 1?'*” ] HA430618 215 55 14 6 62 G1/8 14 59.1 13
M= HE HA430818 245 55 14 6 82 GI/8 14 59.1 1438
o - HA430414 245 65 17 83 42 G1/4 178 795 11
[ | HA430614 235 65 17 83 62 Gl/4 178 795 13
LT & HA430814 264 65 17 83 82 G1/4 17.8 795 1438
- | \\«f«_ H & HA431014 299 65 17 83 102 G1/4 178 79.5 184
T HA431214 308 65 17 83 123 Gl/4 178 795 21
Y i1 HA430438 245 7.5 20 115 42 G3/8 219 822 11
| 1/— HA430638 264 7.5 20 115 62 G3/8 219 822 13
| \\T'**_:- HA430838 284 7.5 20 11.5 82 G3/8 21.9 822 1438
T ) HA431038 319 7.5 20 11.5 102 G3/8 219 822 184
HA431238 328 7.5 20 11.5 123 G3/8 219 822 21
M HA430812 285 95 24 14 82 G1/2 27.1 857 148
CH HA431012 345 95 24 14 102 G1/2 27.1 857 184
201 HA431212 364 95 24 14 123 G1/2 219 822 21
G
Teflon coated taper
thread
(available upon request
for all HA models)
PUSH-IN FITTINGS Subject to change

12



—UNIVER=

HAR

Space-saving Fittings

Plug-in fittings allow a quick connection of the system by optimizing the space
and they facilitate manteinance and replacement of installations.

TECHNICAL CHARACTERISTICS

Temperature

Fluid

Working pressure
Application fields
Recommended hoses

CONSTRUCTIVE CHARACTERISTICS

Body

Fixing elements
Clamp

Release ring

Subject to change

0+60°C

compressed air, vacuum

-0,99 + 10 bar

pneumatic circuits

polyamide PA 10.12, polyurethane Sh.A98
co-polyurethane Sh.55D

technopolymer

nickel-plated brass with O-ring in NBR
stainless steel

technopolymer

PUSH-IN FITTINGS

13

ACCESSORIES



1]
L L
il

HAR Space-saving Fittings Svemanout

HARO4 T Miniature straight male

- . 9D
- __OP
ot L Part No. @D G A B L @ C CH
o HAR0403M3 3  M3x0.5 3.0 146 135 55 106 55
m| -~ Y [ HAR0404M3 4  M3x05 3.0 164 156 80 11 80
i ~ CH HAR0404M5 4 M5x08 3.5 169 156 80 11 80
A A G
<
HAR10B Miniature swivel elbow male
< E o
<C
o Y Y Part No. @D G A B L @ C E CH
( - HAR10BO3M3 3  M3x05 3.0 127 143 62 93 111 55
_| —i A HAR10BOAM3 4 M3x05 3.0 136 166 81 12 16 80
o \ o 2 HAR10B0AM5 4 M5x0.8 35 156 174 81 12 16 80
CH
< G
HAR12B Miniature extended swivel elbow male
< E o
<C=
i P | e |
— i Part No. @D G A B L @ C E CH
ot a HAR12BO3M3 3  M3x05 3.0 128 147 62 93 114 55
o 1IN SIS HAR12B0AM3 4  M3x05 3.0 153 17.8 81 12 147 80
\ HAR12B04M5 4  M5x0.8 35 158 183 81 12 147 80
CH
Y -
< —= G -
HAR14B Miniature low lateral Tee male
- L -
A E
T _C_ Part No. @D G A @ E C L CH
oy HAR14B03M3 3  M3x05 30 62 114 93 241 55
0 g | I (ol 1 HAR14B0AM3 4 M3x05 30 81 147 12 31 8
| I_ — HAR14B0AM5 4 M5x08 3.5 81 147 12 315 8
|
ol n
CH [SIES)
PUSH-IN FITTINGS Subject to change

14



HAR Space-saving Fittings ‘UN.U;RG;:UE

HAR16B Miniature low central Tee male

%«
C
i — T H— J Part No. @D G A ©OP E C L B CH
‘ HT —| — ‘ HAR16B03M3 3 M3x0.5 3.0 6.2 114 93 147 128 55
- m HAR16B04M3 4 M3x0.5 3.0 81 147 12 178 153 8.0
V " % 8 HAR16B04M5 4 M5x0.8 3.5 81 147 12 183 158 8.0
A G
< CH

HAR19 Miniature intermediate straight

B
o C o
o o J’ Part No. oD B ©OP C
_| g [ HAR190300 3 198 62 93
— HAR190400 4 252 8.1 12
A
e
SIES)
HAR20 Miniature intermediate elbow
E <7
C
Part No. @D B ©@P C E @d F
(i — [ HAR200300 3 145 6.2 93 114 32 47
m e lj-l HAR200400 4 183 8.1 12 142 32 6.0
|
&, oln
e gg
HAR21 Miniature intermediate Tee
L c -
/ T H—HiE Part No. oD @P C E @d F G
[T -\ ~ HAR210300 3 62 93 114 32 42 11

HAR210400 4 81 12 142 32 60 11

@A)
\Y
&
@
aP
oD | [

Subject to change

PUSH-IN FITTINGS
15



16

HAR Space-saving Fittings

HAR23 Miniature intermediate Y

PUSH-IN FITTINGS

ﬂi{*

[
N IHIIH

' (a1}

Y NA go,

(@)

A

A _ _gP
@D

olll
L [l
il

UNIVER GROUP

Part No. oD @d B ©P C J F
HAR230300 3 32 288 81 93 81 129
HAR230400 4 32 294 81 12 81 132

Subject to change



